
 

 

 

 

 

 



EXERCISE 9-3 
 
(a)  Dec. 31 Bad Debt Expense ...............................  1,400 
    Accounts Receivable—L. Dole .......   1,400 
 
(b) (1) Dec. 31 Bad Debt Expense 
      [($840,000 – $20,000) X 1%] ............  8,200 
     Allowance for Doubtful 
       Accounts ..................................   8,200 
 
 (2) Dec. 31 Bad Debt Expense ...............................  8,900 
     Allowance for Doubtful Accounts 
       [($110,000 X 10%) – $2,100] .....   8,900 
 

(c) (1) Dec. 31 Bad Debt Expense 
      [($840,000 – $20,000) X .75%] .........  6,150 
     Allowance for Doubtful 
       Accounts ..................................   6,150 
 
 (2) Dec. 31 Bad Debt Expense ...............................  6,800 
     Allowance for Doubtful Accounts 
       [($110,000 X 6%) + $200] .........   6,800  
 
 

EXERCISE 9-5 
 
Allowance for Doubtful Accounts ....................................  11,000 
 Accounts Receivable ................................................   11,000 
 
Accounts Receivable ........................................................  1,800 
 Allowance for Doubtful Accounts ............................   1,800 
 
Cash ...................................................................................  1,800 
 Accounts Receivable ................................................   1,800 
 
Bad Debt Expense ............................................................  13,200 
 Allowance for Doubtful Accounts 
 [$19,000 – ($15,000 – $11,000 + $1,800)] ..............   13,200 
 
 
 



EXERCISE 9-6 
 

December 31, 2017 

Bad Debt Expense (2% X $450,000) .................................  9,000 
 Allowance for Doubtful Accounts ............................   9,000 
 

May 11, 2018 
Allowance for Doubtful Accounts ....................................  1,100 
 Accounts Receivable—Shoemaker ..........................   1,100 
 

June 12, 2018 
Accounts Receivable—Shoemaker .................................  1,100 
 Allowance for Doubtful Accounts ............................   1,100 
 
Cash ...................................................................................  1,100 
 Accounts Receivable—Shoemaker ..........................   1,100 
 

PROBLEM 9-2A 

 
 
(a) $33,000. 
 
(b) $50,000 ($2,500,000 X 2%). 
 
(c) $49,500 [($875,000 X 6%) – $3,000]. 
 
(d) $55,500 [($875,000 X 6%) + $3,000]. 
 
(e) The weakness of the direct write-off method is two-fold. First, it 

does not match expenses with revenues. Second, the accounts 
receivable are not stated at cash realizable value at the balance 
sheet date. 

 
 


